

SIGNATURE PAGE

RFQ# F-116-2025

To the Board of County Commissioners of the County of Monmouth:

**THE UNDERSIGNED HEREBY DECLARES THAT
I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS.
I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE
WITH YOUR REQUIREMENTS.**

Company Name: TRAFFIC SAFETY SERVICE, LLC.

(PRINT)

Preparer's Name: EDWARD REILLY, JR.

(PRINT)

Signature: Edward Reilly, Jr. 12/1/2025

(DATE)

Address: 601 HADLEY ROAD
SOUTH PLAINFIELD NJ 07060

Telephone No.: 908-561-4800

Fax No.: 908-561-3800

E-Mail Address: EDWARD@TRAFFICSAFETYSERVICE.COM

*****(This should be the email where Contracts would be sent)*****

Contact Person: EDWARD REILLY, JR.

FEIN:
(Federal Employee ID)

(Revised 9/2015)

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

RFB must be received no later than: December 3, 2025 10:30AM

For Delivery to: Division of Engineering/Traffic Safety Unit, Public Works Complex
 240B Center Street, Building #B, Freehold, NJ 07728

Delivery Date: 90 DAYS AFTER AWARD OF CONTRACT

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	SAFETY DRUMS (DRUM ONLY, NO BASES), 18" X 36" POLYETHYLENE BODY, 5 BANDS OF 6" ALTERNATING ORANGE AND WHITE DIAMOND GRADE SHEETING. SHALL MEET ALL MUTCD STANDARDS. STAMPED WITH MCPW ON LOWER PORTION NEAR THE BASE. PRODUCT # 456-HD+T-4 BRAND: PLASTICADE OR APPROVED EQUIVALENT PACKAGING: 10 PER STACK 10 PER STACK Packaging: <u>10 PER STACK</u> MFG/Brand: <u>PLASTICADE</u> Product No: <u>B500-5'DG</u> Variances, if any: <u>NONE</u>	1,050 EACH	<u>\$84.00</u>	<u>\$88,200⁰⁰</u>
2	TRAFFIC CONES, 28" HI-VISIBILITY FLUORESCENT ORANGE, MOLDED POLY-VINYL CHLORIDE (PVC), WITH HIGH INTENSITY SHEETING CONE COLLARS, MINIMUM 3" BUT NO MORE THAN 4" FROM THE TOP WITH 6" WHITE BAND SPACED A MINIMUM 2" BELOW 6" BAND. SHALL MEET ALL MUTCD STANDARDS. STAMPED WITH MCPW AT BASE OF CONES. PRODUCT # CONE0280701BB BRAND: JBC SAFETY PLASTIC OR APPROVED EQUIVALENT PACKAGING: 300 PER PALLET 300 PER PALLET Packaging: <u>300 PER PALLET</u> MFG/Brand: <u>TRAFFIC SAFETY SERVICE, LLC.</u> Product No: <u>CONE 280701</u> Variances, if any: <u>NONE</u>	5 PALLET	<u>\$3,750⁰⁰</u> PER PALLET <u>\$12.50</u> PER CONE	<u>\$18,750⁰⁰</u>

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
3	STOP AND SLOW PADDLES, 18" X 18", 72" PVC HANDLE, 6" LETTERS WITH DIAMOND GRADE SHEETING, PRODUCT # STSL-18DG, GSHP-ST/SL-DG3 BRAND: NHP-3MDG GSHP OR APPROVED EQUIVALENT PACKAGING: 10 PER PALLET PACKAGING: 10 PER PALLET 10 PER PALLET Packaging: <u>10 PER PALLET</u> MFG/Brand: <u>TRAFFIC SAFETY SERVICE, LLC.</u> Product No: <u>STOP SLOW 18 DG</u> Variances, if any: <u>NONE</u>	6 PALLET	\$550 ⁰⁰ PER PALLET \$55.00 EACH	\$3,300 ⁰⁰
4	YELLOW TUFF POST 36" WITH YELLOW REFLECTIVE BANDS, ROUND TOP, 3" O.D. PRODUCT # TUFFTP36-4 BRAND: IMPACT RECOVERY SYSTEMS OR APPROVED EQUIVALENT PACKAGING: 30 PER PALLET 30 PER PALLET Packaging: <u>30 PER PALLET</u> MFG/Brand: <u>IMPACT RECOVERY SYSTEMS</u> Product No: <u>TUFF TP 36</u> Variances, if any: <u>NONE</u>	2 PALLET	\$2,340 ⁰⁰ PER PALLET \$78.00 EACH	\$4,680 ⁰⁰
5	WHITE TUFF POST 36" WITH WHITE REFLECTIVE BANDS, ROUND TOP, 3" O.D. PRODUCT # TUFFTP36 BRAND: IMPACT RECOVERY SYSTEMS OR APPROVED EQUIVALENT PACKAGING: 30 PER PALLET 30 PER PALLET Packaging: <u>30 PER PALLET</u> MFG/Brand: <u>IMPACT RECOVERY SYSTEMS</u> Product No: <u>TUFF TP 36</u> Variances, if any: <u>NONE</u>	1 PALLET	\$2,340 ⁰⁰ PER PALLET \$78.00 EACH	\$2,340 ⁰⁰
6	PORTABLE RUBBER ONE BASE PRODUCT # 103QR, PB103QR BRAND: IMPACT RECOVERY SYSTEMS OR APPROVED EQUIVALENT PACKAGING 30 PER PALLET 30 PER PALLET	3 PALLET	\$1,560 ⁰⁰ PER PALLET \$52.00 EACH	\$4,680 ⁰⁰



REQUEST FOR BID

---- This Is Not An Order ----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: <u>30 PER PALLET</u> MFG/Brand: <u>IMPACT RECOVERY SYSTEMS</u> Product No: <u>1036R</u> Variances, if any: <u>NONE</u>			
7	"FLAGGER" (SYMBOL) (W20-7), 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN - SUPER BRIGHT BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	40 EACH	\$61.93	\$2,477.20
8	"BUMP" (WORDING) (W8-1) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN - SUPER BRIGHT BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	10 EACH	\$61.93	\$619.30
9	"ROAD WORK AHEAD" (W20-1) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX	50 EACH	\$61.93	\$3,096. ⁵⁰



REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>			
10	"DETOUR 500 FT" (W20-2) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	15 EACH	\$61.93	\$928.95
11	"DETOUR 1000 FT" (W20-2) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	10 EACH	\$61.93	\$619.30
12	"DETOUR AHEAD" (W20-2) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	15 EACH	\$61.93	\$928.95

REQUEST FOR BID

----- This is Not An Order -----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
13	"ROAD CLOSED" (W20-3) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT: #ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ <u>10 PER BOX</u> MFG/Brand: _____ <u>SS SIGNS</u> Product No: _____ <u>R4.36</u> Variances, if any: _____ <u>NONE</u>	50 EACH	\$61.93	\$3,096.50
14	"ROAD CLOSED AHEAD" (W20-3) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ <u>10 PER BOX</u> MFG/Brand: _____ <u>SS SIGNS</u> Product No: _____ <u>R4.36</u> Variances, if any: _____ <u>NONE</u>	40 EACH	\$61.93	\$2,477.20
15	DETOUR WITH VELCRO ARROWS (W20-3) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ <u>10 PER BOX</u> MFG/Brand: _____ <u>SS SIGNS</u> Product No: _____ <u>R4.36</u> Variances, if any: _____ <u>NONE</u>	50 EACH	\$89.00	\$4,450. ⁰⁰

REQUEST FOR BID

----- This is Not An Order -----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
16	EXTRA VELCRO ARROWS (SEE ITEM# 15) PRODUCT# ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>ARROW FOR RU 36 ROLL UP</u> Variances, if any: <u>NONE</u>	50 EACH	\$29.00	\$1,450.00
17	"LITTER PATROL AHEAD" 36" X 36" (WORDING) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN, BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>RU 36</u> Variances, if any: <u>NONE</u>	20 EACH	\$61.93	\$1,238.60
18	"ROAD CLOSED LOCAL TRAFFIC ONLY" (W20-3) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>RU 36</u> Variances, if any: <u>NONE</u>	20 EACH	\$61.93	\$1,238.60

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
19	"ROAD CLOSED 500FT" (W20-3) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	15 EACH	# 61.93	\$ 928.95
20	"ROAD CLOSED 1,000 FT" (W20-3) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	15 EACH	# 61.93	\$ 928.95
21	"ROAD CLOSED 1,500 FT" (W20-3) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	15 EACH	# 61.93	\$ 928.95



REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
22	"ONE LANE AHEAD" (W20-4) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ MFG/Brand: _____ Product No: _____ Variances, if any: _____	20 EACH	\$61.93	\$1,238.60
23	"LEFT LANE CLOSED AHEAD" 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ MFG/Brand: _____ Product No: _____ Variances, if any: _____	10 EACH	\$61.93	\$619.30
24	"RIGHT LANE CLOSED AHEAD" (W20-5) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ MFG/Brand: _____ Product No: _____ Variances, if any: _____	10 EACH	\$61.93	\$619.30



REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax: (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
25	"ROAD FLOODED" (W8-18) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ <u>10 PER BOX</u> MFG/Brand: _____ <u>SS SIGNS</u> Product No: _____ <u>RU36</u> Variances, if any: _____ <u>NONE</u>	20 EACH	\$ 61.93	\$1,238.60
26	"MOWING AHEAD" (W21-8) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ <u>10 PER BOX</u> MFG/Brand: _____ <u>SS SIGNS</u> Product No: _____ <u>RU36</u> Variances, if any: _____ <u>NONE</u>	50 EACH	\$ 61.93	\$3,096.50
27	"SLOW" 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ <u>10 PER BOX</u> MFG/Brand: _____ <u>SS SIGNS</u> Product No: _____ <u>RU36</u> Variances, if any: _____ <u>NONE</u>	50 EACH	\$61.93	\$3,096.50

REQUEST FOR BID

---- This is Not An Order ----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
28	"BE PREPARED TO STOP" (W3-4) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	40 EACH	\$61.93	\$2,477.20
29	"SHOULDER WORK" (W21-5) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	15 EACH	\$61.93	\$928.95
30	"GROOVED PAVEMENT" (W8-15) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>R436</u> Variances, if any: <u>NONE</u>	20 EACH	\$61.93	\$1,238.60

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
31	"SWEEPING AHEAD" 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ MFG/Brand: _____ Product No: _____ Variances, if any: _____	5 EACH	\$61.93	\$309.65
32	WORKER (SYMBOL) (W21-1) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ MFG/Brand: _____ Product No: _____ Variances, if any: _____	15 EACH	\$61.93	\$928.95
33	"SIGNAL WORK AHEAD" (W3-3 MOD.) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: _____ MFG/Brand: _____ Product No: _____ Variances, if any: _____	5 EACH	\$61.93	\$309.65



REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
 (MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
34	"STRIPING CREW AHEAD" 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>RU.36</u> Variances, if any: <u>NONE</u>	5 EACH	\$61.93	\$309.65
35	"SIDEWALK CLOSED" 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>RU.36</u> Variances, if any: <u>NONE</u>	10 EACH	\$61.93	\$619.30
36	"SURVEY CREW AHEAD" (W21-6 MOD.) 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL, EASTERN METAL OR APPROVED EQUIVALENT PACKAGING: 1 PER BOX 1 PER BOX Packaging: <u>10 PER BOX</u> MFG/Brand: <u>SS SIGNS</u> Product No: <u>RU.36</u> Variances, if any: <u>NONE</u>	8 EACH	\$61.93	\$495.44

County of Monmouth

REQUEST FOR BID

----- This is Not An Order -----



RFB# F-116-2025

Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

**FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING
(MONMOUTH COUNTY CO-OP)**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
			TOTAL:	\$164,884.14

***BRAND NAMES AND NUMBERS ARE MENTIONED FOR IDENTIFICATION PURPOSES ONLY. ALL ITEMS MAY BE AN EQUIVALENT. IF BIDDING AN EQUIVALENT, PLEASE SO IDENTIFY, INCLUDE PRODUCT LITERATURE, AND BE PREPARED TO DEMONSTRATE EQUIVALENCY.

***NOTE:
TRUCKING CO. MUST HAVE TAILGATE DELIVERY. UNLESS OTHERWISE SPECIFIED AT THE TIME OF AWARD, DELIVERIES OF CONTRACTED MATERIALS SHALL BE MADE AT 240B CENTER STREET, FREEHOLD. AT LEAST 24 HRS. ADVANCE NOTICE SHALL BE GIVEN BY CALLING 732-431-7761, EXT. 7849. THE MATERIALS DESIGNATED HEREIN ARE TO BE SUPPLIED WITHIN 90 DAYS AFTER AWARD OF CONTRACT.